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(Hindi & English Versions) i
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. =
Time : 3 Hours ] a2zSUBJCTS.COM [ Maximum Marks : 100
e -
(i) o4 uy sfEE ¥ O
(i) 9% 9% 1 ¥ 5 0% IGHS TR & U & |
(i) 959 z9i® 6 ¥ 26 § af® G By @ ¥ |
(iv) <& sasge o @ ud Amitsa o s9d |
Instructions : é
a2zSUBJCTS.COM -
(i)  All questions are compulsory. :t;
(1) Question Numbers 1 to 5 are objective type questions. E‘
[4-]
<]
(iii) Internal options are given in question numbers 6 to 26. @
(o]
=1
(iv) Draw neat and clean labelled diagram wherever required. =
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T e gEeY s So gike | fefae 1X5=5

Choose the correct option and write it in your answer book :

@

(11)

223 |
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a2zSUBJCTS.COM
a b

Y a_;tg— T gl e apx+by+c =0 g ayx+byy+cy; =0
2 2

(a) & I TW B
(b) & BF A e B
(¢) & I da: 3F® & BNl

(d) = ofgd ' &

a_b . by o <0
When —?ﬁb— then the system of equations ajx+b5y+¢ =0 and
ﬂz 2

ayx+byy+cy =0

(a) Has two solutions

(b) Has no solution

(c) Has infinitely many solutions

(dy Has unique solution 22zSUBJCTS.COM

BT 2x+3y =6 ¥, gt y=0 & @ x % A9 fafge |

(b) -3

tad

(a)

(c) 0 (d)

L | =

In equation 2x+3y=6, if y=0 then write the value of x.

(a) 3 (b) =3
1
© 0 @ 3
2 LRI | pro.
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(i) = wiET @ falatEet ¥ o
(a) —bz-'—4ac (b) bz—4ac

) —b%—4ac d) 2 +4ac

The discriminant of the quadratic equation is :

@  -p% +4ac b) 5% -4dac

(©)  ~b%—dac d) 5%+ 4ac
(iv) ¥ 99 ®F ¥ ¢ a2zSUBJCTS.COM

(a) waEhTEH (b) TH

(c) TIEY (d) TuTEm I

All circles are -

(a) Congruent (b) Equal

(¢) Similar (d) All of these

(v) 99 % @/, 99 ZI B 97 99 I 997 9@ Oeur ¥ d9ey ¥ o

B BT
a) W9 = ——— = —
@ = ®) P = —
i
c) =W = Br=am o+ @ d) B = x——
© (@ v
Relation between arc of circle, angle subtended 2zt the centre by arc and
radius is : .
a2zSUBJCTS.COM
radius ]
Arc = jus = 2
(a) angle (b) Radius e
(c)  Arc = radius + angle (d) Angle= >
radius
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freafefag & o / gl fefao - 1x5=5

Write true / false in the following :
a2zSUBJCTS.COM
() dnfm =wE ixlx mEE R

Algebraic expression 2 +xJx is a polynomial.
(i) frem SUBT SUQAE B B
Education cess is an indirect tax.
(i) o@ ogys % wgE BN & T 360° T ¥ |
Sum of the opposite angles of a cyclic quadrilateral is 360°.
(iv) T % @i 9 fase svE g €
All four diagonals of a cuboid are equal
(v) 7,8, 0 @I §uraX W 9 ® |

The arithmetic mean of 7, &, 9 i1s 9.

3 T we & i sy 1%x3=5
z a2zSUBJCTS.COM
g Fill in the blanks :
&
S (i) @ sgus ax+b H; S % |
=
=
?g' Zero of a linear polynomial ax+b 1s
o
#
S (i) Feeat § & w Ry wHeW 9% % WK Ed AT THE WA B 0T ¥
= WA E
Amount paid in instalments is always ________ than the cash price or
cash down payment.
55223 ) 4 ANEEHMIRHENN « 2ro.
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(i) B[S & a9 A el ¥

Three medians of a triangle are

(iv) T8l g9 % s g & @ = & wmet ] @ ¥
a2zSUBJCTS.COM
The two tangents drawn from an external point to a circle are
(v) Toer ordwg e @ Wiiear  BEr %O
The probability of impossible event is
4 UE® B UH 9= | gEdg § Iuv fefeg 1%x5=5
Write the answer in one word/sentence of each :
(i) 9:25 & U@ FT OB ?
What will be the duplicate ratio of 9:25 ?
(i) =aEETaE B & e fafgg
Write the definition of professional tax.
(i) go @ om=w f5Y weq ¥ O°
Define the segment of a circle.
(iv) 3Me @ &9 ®&d & °?
_ _ a2zSUBJCTS.COM
Define sight line.

(v) @red S99 @& T 7% H g3 fafeg |

Write the formula of whole surface of hollow cylinder.

55223 | s TR | »ro.
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s wh s smew . A22SUBJCTS.COM

oy ‘¥

i) tan(%d —e-)

. 1
11 I
@) secB
(i) tan90°
(iv) sinBxcosecH
(v) sin@
Match the correct column :
Column 'A'

(i) tan(90° —e)
i
(1) secH
(iti) tan90°
(iv) sinBxcosecH
(v) sinB

55223 ]
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1x5=58
wy ¥
(@ f3
b)) o«
() 1
(d) cot
() cosH
() 1—cos2 @
3
(2) ‘5*
Column 'B’
(@ B
(b «
a2zSUBJCTS.COM
) 1
(d) cot®
(e) cosO
® 1- 0052 6
3
(g) T
6 (N0 © 2.
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g — B9 — YO FEETd % Ataware qued fafeg 2

Write the characteristic property of side - angle - side similarity.

a2zSUBJCTS.COM @ /| OR
B # e ¥ fou am—wm § wfey ¥ 7

What are the conditions for the similarity of the triangle ?

ﬂﬁw%wﬁamwémm%lm% AABC, APQR 2
% 9EY ¥

B=4 TIMRT, AC=5 ¥IMel, ~4=60°, PQ=6 ®IMRI, PR=75
e, 2P =60°.

In two triangles, the measure of sides and angles are as follows. Show that

AABC, APQR are similar or not ?

AB =4 centimeter, AC =5 centimeter, ~ A=60°, PO =6 centimeter, PR=7.5
centimeter, /P =60°.

T/ OR
HETTE  FTHT T (9 wHg) @ fyem sew fafeg

Write the statement of converse of fundamental proportionality theorem
{(Thales Theorem).
a2zSUBJCTS.COM

e HeG & w8 MR, 15 {ERRI o 17 ¥oniex awam Bee & 2

Lt
Check whether 8 centimeter, 15 centimeter and 17 centimeter are the sides of
right angled triangle ?

q /| OR
TR U9 gHeqdr & a4 o ¥ 7

What is the meaning of similar and similarity ?

$5223 | 7 R 1« ero.
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10 AleX wiEiee @A & M fameyave ¥ R@E @ ™ o fefefaa 20 2
47, 53, 49, 60, 39, 42, 53, 52, 53, 55
IUTEd Hidel § Wreg mg sy | a2zSUBJCTS.COM
The speeds of 10 Motor cyclists are recorded in kilometer per hour as following :
47, 53, 49, 60, 39, 42, 53, 52, 53, 55
Find the mean from above data.
a [ OR
wiga et & W B W B A RREF B e

Write the names of two methods used to determine the mean of grouped data.

iy wE SET BN Bl GWEAT (W) 0.4 ¥ A %W SYEE T B & gisdr 2
T BT |
If the probability of raining tomorrow is 0.4 then what will be the probability of

not raining tOMOITOW. 22zSUBJCTS.COM
T /| OR

TE T B OHET W 4§ TS F M B AGGAT 5 HAY |

Find the probability of getting a number greater than 4 in a single throw of a die.

5 ¥ B o 99 % Fw ¥ 3 A9 & g0 w Rem Sian & deR 3

A BT |
Find the length of a chord which is at a distance of 3 centimeter from the centre
of circle of radius 5 centimeter.

@ /| OR
firg @i &6 sidgd W T HO TEET AT § |

Prove that the angle in the semicircle is right angle.
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12 & T AP H x X y B A TE HIY 3
a2zSUBJCTS.COM
a2zSUBJCTS.COM
S
Find the value of x and y in the given figure.
a2zSUBJCTS.COM
T /| OR
fag #ife 5 alk e 99 % ¥= ¥ e W @9 =0 9@ @ 9% ar B @
TR WA F Al W E 42,QUBJCTS.COM
Prove that the perpendicular from the centre of a circle to a chord bisects the chord.
55223 | 9 (TR TR 1 Pro.
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13 frafafes oipa ol 8 a »ar & fofdal #1 olar § s % 9eg 3

I T BT a2zSUBJCTS.COM
1 . o e .
| 9T fFaidal & =
0-10 12 s
:
10-20 18 Py
N
20-30 27 2
S
30-40 20 &
[
e
40-50 17 S
!; 50-60 06
l
Compute the mean of the marks obtained in the examination by the students of
any class from the following grouped data :
Marks Obtained Number of Students
1 0-10 12
10-20 I8
20-30 27
| Z
| 30- 2
i 30-40 20 2
[ B
40-50 17 N
=
- =.
50-60 06 g'
z
a2zSUBJCTS.cOM ¥ / OR S

af% um W9 9y % e Tad fear war & @ 3w oad ¥ 53 EEn g @)
FHEE T W-_ﬁmg,".‘ T

Find the probability that a leap year, selected randomly, will contain 53 Thursdays.

223 | 10 WTIRINIMAN 1« pro.
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14 Frafafan sTERa 929 &1 sges o Sifg

| it aferTE

0-20

20-40

40-60

60~ 80

80-100

= .

a

10

17

26

22

15

Find the mode of the following frequency table

55223 | 11

Class Interval

0-20

20-40

40-60

60 -80

80-100

17

26

22

15

www.a2zsubjects.com

Frequency 10

I /| OR
Fae ©d gase & a8 99 Suam faRau)

Write any three uses of cost of living index number.

a2zSUBJCTS.COM

wiveaE ot gro Frefafes wder fem s @ Fifhm 4

3x+2y =14

-x+4y=7
Solve the following system of equation by substitution method :

3x+2y =14
—-x+4y =17

7t / OR
a2zSUBJCTS.COM

%ﬁﬁ@mm%ﬁﬁsﬁﬁﬁﬂmmmﬁﬁsmﬁw%mﬁmT

1

Tafl sud sie ¥ § 4 wEmn o w® @ - Wi 9 31 9% €@ T s

L.

: : . : 1.
By adding 5 to the denominator and substracting 5 from its numerator i obtained.

- : 1
If 4 is subtracted from its numerator then — is obtained. Find that number.
2

(IR 1 20
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x A y & T Fem e B o Sieg 4
X - ] = b

e 22zSUBJCTS.COM

ax - by =c

Solve for x and y the system of equations :

x+ay==b

ax — by =c

77 / OR

s POR § £P=x", £Z0=3x" 3R £R=y" %13k 3y-5x=30, a Brye
POR % WS B IMA SIS

In triangle POR, £ZP=x°, £Q=3x" and £ZR=y°. If 3y-5x=30, then find the

value of each angle of trangle POR.

4 ab x+2a x=+2b

g x = 'e'ff, al iﬁ@ Fou e + =2 4
a-+b x—2a x-2b
X 4 ab h h x+2a x+2b 5
i X= t i at + =
a+b en prove x—-2a x-2b

a2zSUBJCTS.COM T /| OR

. a b c o

qry = = q g Fiee 6
y+z z+X X+Y

a(b-c) b{c—a) c(a-b)

2 2 2 2 2_.2
a b c

If = = then prove that

y+2z z+X  X+y

b

NEIRR I« pro.

223 | 1
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2

3]

afr o % p = whwwr e +br+c=0 ¥ §w #, @ %+_WW 4
o
A BT a2zSUBJCTS.COM
. . 2
If o and B are the roots of quadratic equation ax” +bx +¢ =0 then find the
2 g2
value of Z 4 —.
Qa
o /| OR
TEe fafy § freafefes s @ Ak
> 1lx 15
Y~ _: + _-‘\ =0
4 8
Solve the following equation by factorization method :
> 1lx 15
Xt ——— =
4 8
a2zSUBJCTS.COM
T 9T F HUL UE AUS] N FHT Tl WA & AT ¥ 20 HRY & U W 4
Y AR #E % BT & SaE B 45° AR 60° ¥ E| Wad B HOR adl
AR FH WEE T BT
A building is surmounted by a flag, from a point on the ground 20 meter away
from the foot of a building, the angle of elevation of the top of building and flag
are 45° and 60°. Find the height of the building and the length of the flag.
T/ OR
50 HeT S weEl & fex @ fEd dEm @ 9R iR aum & e md &I
FHI 30° X 450 ¥ AWK @ FAE s S
From the top of 50 meter high hill, the angle of depression of the top and the
bottom of a tower are 30° and 45° Find the height of the tower.
223 | 13 GO S 2ro.
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Frivfgd g9 9 9w @ Wen o Brumws &1 dmww s @it ey sea
B AT Brewr mE 1200 wg 21 w9 ¥

Find the length of arc and area of sectors, if the angles subtended at the centre
and the radii are 120° and 21 c.m. respectively.

7 /| OR a2zSUBJCTS.COM

TH YO % AHT B B 6k S ¥ 203 %1 oue ¥ At § & omadd
1617 ¥9° ¥ @ 969 B 99 U T e

The radius and height of a cylinder are in the ratio of 2 : 3. If the volume of the

cylinder is 1617 cm?, then find its whole surface area.

I e e = ®mEIr 2 §OMRR, 12 ddEer #X 16 ddnex %,
oY TF 39 MWl S9ET T %) 39 USR8 39 e BT orHerd
A BT

Three solid spheres having the diameters 2 centimeter, 12 centimeter and
16 centimeter respectively, are melted to form a sphere. Find the radius of the sphere.

a / OR

TF 6 M A B A & W B el sedmr ] ¥ ossdl T R
afy 9 & Ty &1 =mm 0.2 ¥onieT &, @ ar @ deE T s

An iron sphere of diameter 6 centimeter is melted and drawn into a cylindrical
wire. If the diameter of wire is 0.2 centimeter, then find the length of wire.

www.a2zsubjects.com

4

R g wgme f(x)=x +13x%+32x+20 F aR UF =@ 2 % @ 9w g9 5

T BT a2zSUBJCTS.COM

Find all other zeroes of polynomial f(x) = x> +13x% +32x+20  if one of its zeroes

15 =2,

a1 /| OR

TFEE BT
a?‘{\b+c) + bz(c+a) -:—cz(a-'.—b)+2abc

Factorise :

a*(b+c) + b*(c+a)+c*(a+b)+2abe
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23 1037 -11y-6=0 ® g3 fafy zw &« Hfvgl 5
R a2zSUBJCTS.COM
Solve by using formula 10y“ -11y-6=0.
@/ OR
T Td 9N & Ag H A 45 a9 3 AR 99 Q@ I B AY B OEA
> 160 2| T7% TEM g TE B
=
§ The sum of the ages of a man and his son is 45 years. Four years ago, the product
by of their ages was 160. Find their present ages.
e
=
3
Z24 2000 99 WX 3 A9 % fQ 5% B I G WHURY Ud GHghE =S B FWL S
o [l
§ 3T DI |
Find the difference between compound interest and simple interest for ¥ 2,000 at
the rate of 5% per annum interest for 3 years.
T/ OR
T B 960 TUY TE AT 480 TUY A WA UT 245 TG @I A WS e
W E T R OWT B | 3T S @i
A watch is sold for T 960 cash or for T 480 cash down payment and two monthly
instalments of ¥ 245 each. Find the rate of interest charged under the instalment
plan.
a2zSUBJCTS.COM
ézs UF TEE YW ¥ ooa g died reE e # uw gen 8 #9ER B 5
z g9 % B ® AW SaEd
(3]
% Construct the incircle of the equilateral triangle whose one side is 8 centimeter.
% Measure its radius.
~
#
4 71 /| OR
)
2 I g AA'BC' &7 AT Hiieig el ged AABC @1 s § 703 % F9A
¥ ¥
Construct a A A'RC' similar to a given AABC whose sides are in the ratio 7 : 5.
53223 | is
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26 Fo& (1+cot B —cosec 6)(1+tan® + sec ) & T BT 5

Simplify the expression (1 + cot® - cosec 0) (1 + tan0 + sec 6)

@/ OR
o oW % vam ¥ fem #ifsg <
=
sec 377 sin42” a2zSUBJCTS.COM 3
-+ =2 =]
cosec 53°  cos 48° g
=
2.
Prove it. without using table : e
- me . " g
sec 37 _sm4.. - S
cosec 53°  cos 48
=
=
=
-]
a2zSUBJCTS.COM 3
p
=.
&
73
&
[=]
=

16 AR R O

[} ¥
th
[
b
Lad
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